Translation - Answers

Key Stage 2: 2005 Paper B

1.

Key Stage 2: 2006 Paper A

1.




Key Stage 2: 2006 Paper B
1.
Key Stage 2: 2007 Paper A

1.




Key Stage 2: 2007 Paper B

1.
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Key Stage 2: 2008 Paper A
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Key Stage 2: 2008 Paper B
1.

11 Diagram completed as shown: im
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Key Stage 2: 2010 Paper A

1.

24 Diagram completed as shown: 1m

Key Stage 2: 2010 Paper B
1.

19 Award TWO marks for the diagram completed as Up to 2m
shown:

‘ A
X
. |

If the answer is incorrect, award OMNE mark far two
shapes eorrect and no more than one incorrect.

Accept inaccuracies in shading provided
the intention is clear.

Accept slight inaccuracies in drawing
|see page 3 for guidance).

Accept slight inaceuracies in drawing provided the
intention is clear.

Circle and sguare need not be shaded.



Key Stage 2: 2011 Paper B L6

1.

1 im Shows the correct rotation, ie

Key Stage 2: 2011 Paper A

1.
22a Triangle drawn on the diagram as shown:
22b Quarter circle drawn on the diagram as shown
above.

Key Stage 2: 2012 Paper A

1.

11 Diagram completed as shown:

1m

1m

1m

! Lines not ruled or accurate
Accept slight inaccuracies in drawing
(see general guidance)

Accept inaccurate drawing provided the intention
is clear.

Triangle must be shaded.

Accept inaccurate drawing provided the intention
is clear.

The size of the quarter circle is not important,
provided it does not touch the shaded rectangle.

Quarter circle need not be shaded.

Accept inaccurate drawing provided the intention
is clear.



Key Stage 2: 2013 Paper B

1.
19 Award TWO marks for the diagram completed Upto2m  Accept slight inaccuracies in drawing (see page 5
as shown: for guidance).
Shape need not be shaded.

If the answer is incorrect, award ONE mark for
m the shape rotated 90° (in either direction)
OR

m shape comrectly rotated but with top left vertex
not positioned at point A

OR

Key Stage 2: 2014 Paper A

1.

1 C im Accept alternative unambiguous indications, eg
comect shape ticked or circled.



Key Stage 2: 2014 Paper B

1.
13 Award TWO marks for the diagram completed
correctly as shown:
®

If the answer is incorrect, award OME mark for
three shapes positioned correctly.

Key Stage 2: 2015 Paper B
1.

T Award TWO marks for the comrect answer of
AANDE
If the answer is incorrect, award ONE mark for:

m both letters correct and not more than
one incorrect

m A only (and no other letters)

m E only (and no other letters)

Upto2m  Accept inaccurate drawing, provided the intention
is clear.
Orientation of the triangle must be unambiguous.
Dots need not be shaded.

Upto 2m  Letters may be given in either order.

Accept alternative unambiguous indications,
eg tiles ticked or circled.



Key Stage 2: 2016 Paper 3 Reasoning - Sample
1.

8 | Award TWO marks for three vertices of the

shape, excluding B, translated correctly as
shown below:

If the answer is incorrect, award ONE mark

for two vertices, excluding B, translated
carrectly.

Up to | Accept slight inaccuracies in drawing

provided intention is clear.

Key Stage 2: 2016 Paper 3 Reasoning
1.

12 | The triangle has moved EI squares to the right
and squares down.

im




Key Stage 2: 2017 Paper 3 Reasoning

1.
7 | Triangle with vertices at (2,1) AND (2,4) AND 1im Accept slight inaccuracies in drawing (see
(5,1) drawn on the grid as shown: page 12 for guidance).
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Key Stage 2: 2018 Paper 2 Reasoning
1.
12 | Shape located correctly, as shown: 1m Accept slight inaccuracies in drawing (see
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page 12 for guidance).

Shape need not be shaded for the award
of ONE mark.




Key Stage 2: 2019 Paper 3 Reasoning

1.
10a | Quadrilateral completed, as shown: im Accept slight inaccuracies in drawing

. provided the intention is clear.
al (See page 13 for guidance.)
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10b | Quadrilateral translated correctly, as shown: im Accept slight inaccuracies in drawing
N provided the intention is clear.
E (See page 13 for guidance.)
S
4 Award ONE mark if the answer to (b) is
g a quadrilateral with sides drawn and is a
2 correct translation of their answer to (a).
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